Total No. of Questions : 5] SEAT No.

P839 [Total No. of Pages : 2

[5158]-2001
S.Y.B.Com.
BUSINESS COMMUNICATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What is Communication? Explain the process & features of effective

Communication. [16]
OR

What is written Communication? State the advantages & disadvantages of

written Communication.

02) Whatis the interview? Explain in detail which skills/ Techniques required for

interview. [16]
OR

What is Business Letter? Explain in detail physical appearance of a Business

Letter.

03) a)  Write an order Letter to Shanti Tools Ltd. Maharaj Chowk Solapur from
Rajesh Industries Ltd. Dapodi Pune Purchasing Electronic items for new
shop. [8]
OR
Write circular letter to their customers of Janata Sahakari Bank Pune for
shifting their Branch from Bajirao Road to Laxmi Road Pune.
b)  Write an office circular from Manjri Industries Ltd. M.G. Road Pune for
their workers regarding five foreign delegates visiting company. [8]
OR
Write a collection letter to M/s Nitin & Sons Pune, is in arrears of

Rs. 70,000 for some months. Write a tactful Letter suggesting payment
by arrears. [8]

PTO.



04) What is Job application letter? Which points were considered while drafting
job application letter. [16]

OR

What is Voice Mail? Explain the role of voice mail in business communication.

05) Write short notes on (any four): [16]
a) Barriers to communication.
b) Advantages of oral communication.
c) Group discussion.
d) Complaint letter.
e) Whats app.

f)  Qualities of business letter.

Q00O
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Total No. of Questions : 4] SEAT No. :

P983

Time : 3 Hours]

[Total No. of Pages : 8

[5158]-2002
S.Y.B.Com.
CORPORATE ACCOUNTING

(2013 Pattern)
[Max. Marks : 80

Instructions to the candidates:

1)
2)
3)

01) A)

All questions are compulsory.
Figures to the right indicate full marks.
Use of calculator is allowed.

Fill in the Blanks with appropriate term from the given option

(any five) [5]
i)  The dividend paid between two annual general meeting is known as
(Interim Dividend / Extra Dividend)

i) Unclaimed dividend recorded on the of the balance sheet
(asset side / Liability side)

i) Winding up of a company by an order of the tribunal is known as

(Compulsory winding up / voluntary winding up)

iv) One liquidation and no new formation is called as of a
company (Absorption / external reconstruction)

v) Profitincluded in the closing stock is known as (unrealized
profit / Capital profit)

vi) Profit earned by the subsidiary after the acquisition is called

(Revenue profit / Capital profit)
vii)) Reduction in the value of an asset is recorded on the side of

capital reduction account (Debit/ Credit)

PTO.



B) State the following statements are true or false (any five) : [5]
i)  Depreciation is charges on live stock.
i) Inter - company transaction are added to the respective items
i) Profit on revaluation of fixed assets is a revenue profit.
iv) External reconstruction is the process reduction of capital.

v) Reduction in the value of liability is recorded on the debit side of
capital reduction account.

vi) Computerized accounting eliminates all types of errors.
vii)) A S 6 deals with consolidated financial statement.
C) Write short notes on (any two) [2%7=14]
i)  Format of Liquidators Final Statement of Account.
i) Features of Computerized Accounting system.
ii) Accounting for Amalgamation.
iv) Cost of Control or Goodwill in case of Holding Company.

v)  Need of valuation of shares.

02) Prakash Ltd. Pune was registered with an Authorized Capital of Rs. 400,000
divided into 4,000 Equity shares of Rs. 100 each.

You are required to prepare a statement of profit and Loss for the year ended
31 March 2016 as per the revised schedule VI of the Companies Act 2013.

DO NOT PREPARE BALANCE SHEET AND DO NOT RECORD SECOND
EFFECT OF ADJUSTMENTS. [10]
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The following balances extracted from the books as on 31% March 2016 as

follows:

Debit Balances Amount Credit Balances Amount
Purchases 3,54,200 Sales 7,00,000
Stock of Raw Materials 1.4.2015 16,600 Purchase Returns 18,200
Carriage outwards 6,700 Interest on trade investment 3,500
Salaries and wages 90,100 Miscellancousincomereceived 3,700
Staff welfare expenses 12,700 Other operating revenue 14,000
Repairs to buildings 24,200 Bank interest 1,400
Carriage inward 7,100

Contribution to pension fund 2,800

Bad Debts 4,300

Power and Fuel 13,000

Insurance 18,300

Rent and taxes 11,200

Sales return 12,600

Adjustments

i)  Stock of Raw Material as on 31 March 2016 amounted to Rs. 24,000
i)  Provision for bad and doubtful debts is Rs. 6,000
i) Provide depreciation on Building Rs. 5,000 and Motor Vehicles Rs. 4,000

OR
a) Race Ltd. is construction a fixed asset. The cost of project is given
below: [5]
Material Rs.52,00,000
Direct Expenses Rs. 7,00,000

Total wages for the year -Rs  4,80,000(50% is chargeable to project).
Administrative Expenses-Rs ~ 1,25,000
Depreciation on assets used for the project Rs. 30,000

Calculate the cost of Fixed asset

[5158]-2002 3



b)

03) A)

Bhatia Co Ltd., acquired a plant and machinery on 1-4-2016 for Rs
87,00,000. Installation expenses were Rs. 3,00,000. Scarp value after its
useful life of 5 years was estimated Rs. 10,00,000. What is the amount
of depreciation that Bhatia Co Ltd. Should charge for the accounting

year ending 31-3-2017 under fixed installment method? [5]

The following is the balance sheet of Jay Bho Ltd., Pune as on 31*

March 2016 [12]

Balance Sheet of jay Bho.Ltd. Pune as on 31% March 2016

Liabilities Amount | Assets Amount

share Capital 4000

Equity Shares of 2,00,000 | Landand Building 55,000

Rs. 100 each Rs. 50

paid up

1000 Equity Shares of

Rs. 100 each Rs.30 30,000 | Plantand Machinery 60,000

paid up

6% Debenture 25,000 | Furniture 25,000

(having a floating)

charges on all the assets)

Sundry Creditors: Molds 60,000

On Mortgage of Plant and| 30,000 | Stock 40,000

Machinery

Preferential Creditors 6,000 | Debtors 20,000

Unsecured Creditors 9,000 | Cash in hand 10,000

Profit and Loss 30,000

3,00,000 3,00,000

The company went into voluntry liquidation as on the above Balance
Sheet date. The Liquidator realized the assets as follows: Land and
Building Rs.70,000; Plant and Machinery Rs. 65,000; Molds Rs. 50,000,
Furniture Rs. 20,000; Stock Rs.35,000 and Debtors Rs. 11,000.

The liquidation expenses amounted to Rs 3,500. The liquidator is entitled
to a fixed remuneration of Rs. 3,200 and @ 2% on the amount assets
realized and 2% on the amount distributed to unsecured creditors including
preferential creditors.The liquidator made payments on 30" September
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2016 on which date the debentures were also repaid.

Prepare the Liquidators Final Statement of Account

B) The Balance sheet of Ashima Ltd. and Soni Ltd. As on 31% March 2016
is as follows: [14]
Balance Sheet as 31-3-2016
[_iabilities Ashimaltd.| SonilLtd Ashimaltd | Soni Ltd.
Share capital; Shares | 43,75,000(17,50,000 | Building 8,50,000 87,000
pf Rs. 10 each
(General Reserve 6,57,000 Machinery 23,27,000 112,35,000
Profit for the year 6,20,000( 2,62,000 | stock 8,40,000 [ 4,25.000
Creditors 7,95,000| 3,80,000 [ Debtors 8,53,000 | 5,37,000
Bills Payable 88,000 investment 16,65,000 -
Shares of soni
Ltd (105,000
Shares) at cost
Bils - 1,08,000
Receivables
65,35,000(23,92,000 65,35,000 |23,92,000
Other information:

i)  Ashima Ltd. acquired the shares of Soni Ltd on 1% October 2015.

i)  The Bill payable of Ashima Ltd represented Rs. 15,000 issued in
favour of Soni Ltd.

Prepare a Consolidated Balance Sheet as on 31-3-2016.
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Q4) Sarika Ltd., sells its business to Satnam Ltd. as on 31% March 2016 on which
date its Balance Sheet stood as follows: [20]

Balance Sheet of Sarika Ltd. as on 315 March 2016

[iabilities Amount. | Assets Amount
4,000 Equity shares of Rs. 100 each| 4,00,000 | Goodwill 80,000
6% Debenture 2,00,000 | Freehold Property 3,00,000
[rade Payables 82,000 | Plant and Tools 2,00,000
Reserve Fund 84,000 | Stock 60,000
Profit and loss 34,000 | Bills Receivable 10,000
Trade Receivables 65,000

Cash at Bank 85,000

8,00,000 8,00,000

Satnam Ltd., agreed to take assets (exclusive of cash and goodwill) at 10%
less than the books values, to pay Rs. 90,000 for goodwill and to take over
the debentures.

The Purchase consideration was to be discharged by allotment to Sarika Ltd.
of 2,500 Shares of Rs. 100 at a premium of Rs. 10 per share and balance in
cash.

The cost of liquidation amounted to Rs. 5,000.

You are required to prepare: Realization account, Cash account, Shareholders
Account and Satnam Ltd. account in the books of Sarika Ltd., and also
acquisition Journal Entries in th books of stanam. Ltd.
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OR

a) Following is the Balance Sheet of Nirmal Ltd.Thana as on 31% March

2016. [10]
Liabilities Amount | Assets Amount
3,000 Equity Shares of 300,000 | Freehold Property 150,000
Rs.100 Each
Reserve Fund 70,000 | Machinery 180,000
Profit and loss 25,000 | Furniture 25,000
Trade Payable 60,000 | Stock 28,000
Bills payable 25,000 | Trade Receivables 65,000
Bank balance 30,000
Formation Expenses 2,000
480,000 480,000
Additional Information

i)  Assets are valued as under

Goodwill 60,000
Freehold Property 2,30,000
Machinery 1,90,000
Furniture 30,000
Stock 35,000
Trade Receivables 60,000
i)  The profits of the company amounted to
Year | Amount
2014 70,000
2015 65,000
2016 75,000

i) It is the practice of the company to transfer one-fourth of profit to
Reserve fund

iv) The fairyield in respect of Equity Share of similar type of companies
is ascertained at 10%

Find out the value of each Equity Share under.
a) Intrinsic value

b) Yieldvalue

c) Fair Value method.
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b) The following was the Balance sheet Dinesh Ltd. as on 31%* March
2016. [10]

Balance sheet as on 315 March 2016

Liabilities Amount | Assets Amount
40,000 equity shares of |40,00,000 | Good will 6,00,000
Rs. 100 each

7,000. 9% Preference | 7,00,000 | Freehold Property |30,00,000
Share of Rs. 100 Each
Share Premium 5,00,000 | Plant and Machinery| 10,00,000
Trade payable 8,00,000 | Stock 4,00,000
Trade Receivables 3,00,000

Preliminary Expenses | 3,00,000
Profit and Loss 4,00,000
60,00,000 60,00,000

The following scheme of reconstruction was approved and duly
sanctioned:

i) Preference shares to be reduced to Rs. 80 per share

il) Equity shares to be reduced to Rs. 20 per share

i) Transfer share premium account to capital reduction account
iv)Write off all intangible assets and

v) Freehold property to be written down to Rs. 28,00,000

Give necessary journal entries to record the above transactions in the
books of Dinesh Ltd. Also prepare a revised Balance sheet after the
scheme of reconstruction as on 31% March 2016.

Q00O
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Total No. of Questions :5] SEAT No.

P840 [Total No. of Pages : 4

[5158]-2003
S.Y.B.Com.

BUSINESS ECONOMICS - II (MACRO)
(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Define Macro Economics. Explain the significance and limitations of Macro
Economics. [16]

Q2) What is National Income? Explain the difficulties in measuring National
Income. [16]

OR

What is credit control? Explain the measures of quantitative and qualitative
credit control adopted by central Bank in detail. [16]

03) Answer in Brief:

a)  What are the causes of Deflation. [8]

b) Explain the fishers quantity theory of money. [8]
OR

a) Explain the monetary measures to control Trade cycles. [8]

b) Explain the nature & Scope of Public finance. [8]

PTO.



04) Explain the keynesian Theory of employment in detail.

05) Write short note on (any two)

a)
b)
c)
d)

Causes of increasing public expenditure.
Phases of Trade Cycles.
Functions of money.

Cost push Inflation.

Q00O

[5158]-2003 2

[16]

[16]



Total No. of Questions : 5]

P840
[5158]-2003
S.Y.B.Com.
BUSINESS ECONOMICS - II (MACRO)
(2013 Pattern)
(TSt BUTAR)
gz 3 ara | [ TzoT 7707 - 80

oA :— 1)  @F 97 QISE0 savas sEd.

2) ITFIESIT S TR QU JOT FIaana.
3) oEvaE a9 Gad HTHAT FHIET.
4) Teylarst gw A1 TVINEAST TgTE.

g7 1)

97 2)

gv7 3)

797 4)

TETARN LT SATEAT o, FHIcelt eyt uged 9 Aaiqr Tug %.[16]

T a1 TZUTS Hh1d ? P Ieq~ AIIATA A ASAV T . [16]
foRan

AU TEUTH 1 ? HEAT! sl (EIeh eI UaT-a0TTe WEATeHe o TUTTHh

AT Aferey T8 . [16]

ogerTa 3w forer.

) TAATUET HRUT IV TR ? [8]

F) TR aren aeaaEamE fegra Wy w1, [8]
foRan

) R wshreaT FHEaume TaAfauges SuTg Y . [8]

¥) Wradieh ATAIIT STH 9 TEY T . [8]

& et At fagrare afaea T . [16]



gy75)  oiewmma fout R, (ForEtd )
) WrER T ATE R,
) TR Tehreal ST,
%) dumeft @
T) TEQEMTA TeEaTe.

Q00O
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Total No. of Questions : 5] SEAT No.

P841 [Total No. of Pages : 4

[5158]-2004
S.Y.B.Com.
BUSINESS MANAGEMENT
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain in detail Taylor's Scientific Management Approach. [16]
OR
What do you mean by forcasting? Explain the need and techniques of
forcasting.

02) Define the term management. Describe the various challenges before
managers. [16]

OR

Define Motivation. Explain characteristics and importance of motivation.

03) What do you mean by delegation of authority. Explain in detail features and
advantages of delegations of authority. [16]

OR

What are the detail barriers of communication.

04) Define controlling. Explain the steps and importance of controlling. [16]
OR

Define Business Ethics. Explain the importance and scope of Business
ethics.

PTO.



05) Write short notes on (any four): [16]
a) Modern Indian Economic Thoughts of Mahatma Gandhi.
b) Importance of staffing
c) Techniques of direction.
d) Hertzberg's motivation hygiene theory.
e) Need of co-ordination.

f)  Levels of planning.

Q00O
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Total No. of Questions : 5]

P841
[5158]-2004
S.Y. B.Com.
BUSINESS MANAGEMENT
(2013 Pattern)
(TSt BUTAR)
gz 3 ara | [ TzoT 7707 - 80

e :- 1) @d 97 qISlav sravas e,

2) ITAIHSIT ik QU T FIAATA.

Tv71)

97 2)

7957 3)

gv74)

TH.3569, SoR ATaT JTEE SHaEATIATAT GEiehiT Aot TUE &, [16]
e
AT FEUS 1A ? GATAATE TR o T €8 7

TIEEATIATE SATEAT &1 ? sawmaaraaer fafae amegi we =, [16]
e
AU =aTEaT T ? Tt afsTea 9 Weea |mm.

ATUHR T FUR w1 ? AfUwr e I a wree afaer g ?[16]
e
HIFTEATATST 3TSe AT TIY il ?

o=t sarE @ ? e age 9 areeat @ ? [16]
feman

HTaATReR FfdA=l SamEaT T ? aEaEEie Ad A Aged o SATHT HfaET

Y .



¥y75)  onEema dwn ferer. (ol wn)
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&) fAdvmAm=h a3
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Q00O

[5158]-2004 4

[16]



Total No. of Questions :5] SEAT No.

P842 [Total No. of Pages : 3

[S158]-2005
S.Y.B.Com.
ELEMENTS OF COMPANY LAW
(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Company. Explain in detail the types of Companies. [16]
02) Explain in detail stages in formation of the company. [16]
OR
Define 'Memorandum of Association'. Explain the various clauses of
'Memorandum of Association'. [16]
03) a) Write a note on 'Sweat Equity shares'. [8]
b) Distinguish between transfer and transmission of shares. [8]

OR
a)  Write a note on 'Director Identification Number DIN'. [8]

b) Explain meaning of E-Governance. Write advantages of E-Governance.|[8]

04) Explain provisions regarding Annual General Meeting from sec. 96 to sec. 99.
of the Company Act. [16]

PTO.



05) Write short notes (any two)

a)
b)
c)
d)

Legal position of Director.
Whole Time Director.
Voluntary winding up of company.

Reconstruction and Amalgamation.

Q00O
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Total No. of Questions : 5]

P842
[5158]-2005
S.Y. B.Com.
ELEMENTS OF COMPANY LAW
(2013 Pattern) (Regular)
(TSt BUTaR)
dz: 3 ara | [ TzoT 7707 - 80

geqr :— 1) @d T97 @isiav smavas 3.

e e e e e
3) devlarst ye sust gvTarAeT ugTE.

Tv71)

97 2)

gv7 3)

g7 4)

757 5)

‘U’ ST 1. hUA Tk AfaEay T . [16]

‘Sut’ TermuAder fafay srawen aferr T =0, [16]
e

“TeATUSTeRTE SITEAT TN, UeATUSehTd I fafaer shetd TO8 . [16]

A) ‘we wmra 9’ - feu for. 8]

¥) WUNT-FEATR 9 9N HghaUT Tl ek TI8 . [8]
e

A) ‘vuTew sieE wEisw - feu e 8]

q)  g-TegA = oef W, T-TegHE W Wi ferer. 8]

TIfteh AHATIRUT ARSI hUAl BEATAA FHAd 96 7 99 wefir T g

. [16]

St forgt. (oreTdt gF) [16]

) HUTARTS HECIR T .

) YUide HETeE.

%) U Yioow dHIH.
E) YATTHT SATIUT Uehs{ieReuT.
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Total No. of Questions :5] SEAT No.

P843 [Total No. of Pages : 4

[5158]-2006
S.Y.B.Com. (Regular)
BUSINESS ADMINISTRATION
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define Administration Explain the functions of Administration. [16]
OR
Define Business. Explain economic & social objective of business. [16]

02) Explain the social responsibilities of business to wards customers and

Government. [16]
OR
What are the important legal provisions Governing promotion and establishment
of unit. [16]
03) a) What are the objectives and limitations of quality circles? [8]
b) What are the causes of Industrial sickness? [8]
OR
a) Explain the techniques to boost productivity. [8]

b) What are the measures to be undertaken to prevent Industrial sickness.|[8]

PTO.



04) What is Globalization? Explain the consequences of Globalization. [16]

OR
Define industrial sickness? Explain role of (BIFR) Board for the industrial and
financial reconstruction. [16]
05) Write short note on (any four) [16]

a) Importance of productivity inorgaisation.

b) Advantages and disadvantages of legal process out saurcing (LPO)
c) Role of Government in Prevention of industrial sickness.

d) Returns to be filed by organization in India.

e) Quality control

f)  Liberalisation.

Q00O
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Total No. of Questions : 5]

P843
[5158]-2006
S.Y.B.Com. (Regular)
BUSINESS ADMINISTRATION
(2013 Pattern) (Special Paper - I)
(TSt BUTaR)
dz: 3 ara | [ TzoT 7707 - 80

geqr :— 1) @d T97 @isiav smavas 3.
2) @F AT GHT JOT STRA.
3) @guiars? g@ AT TYATIAFT TFTEl.

g7 1) ATIETRNE TIMEATH SATEAT AR Tl quiTeiaR shre forgt. [16]
ToRan
T SATEAT ST, AT STTUT HIHTNTh 39T TUE . [16]

gy72) ATAEETE UTEeh o IMEATAE A AT waraeit faug wa. [16]

e
TFET TATIAATS! SATAYH THATAT TSR ATl T . [16]
gy73) ) TUTEHT HeHTeAT HATET 9 I foTal. [8]
g) SR I=nT= wrw forer. [8]
e
) ScuTgeharaTeret a3 forar. [8]

¥) AT I AEUATETS IV SUTIAISAT il Aeter o fergr. [8]

gy74)  ATiATReRIUT TRUR T ? e TRuTY TIE . [16]
ToRa

TSI JTWTT SATEAT . TG ST o o GHeT HeSaTel JiHeht T8

. [16]



gy75) o™ dun feET. (FIvTETE 9R)
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3) T e
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Total No. of Questions :5] SEAT No.

P844 [Total No. of Pages : 3

[5158]-2007
S.Y.B.Com.
BANKING AND FINANCE
(Indian Banking System)
(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What do you mean by Bank Nationalization? Discuss the arguments for and

against nationalization of Banks in India. [16]

02) Explain the functions and performance of NABARD. [16]
OR

Explain the structure of Banking system in India. [16]

03) a) State the functions of state co-operative Banks. [8]

b) State the performance of Regional Rural Banks. [8]
OR

a) State the recommendations of Narsimham committee - 1 (1991) [8]

b) State the performance of private sector Banks in India after 1991.  [8]

04) Explain the functions of Reserve Bank of India. [16]

PTO.



05) Write short notes on (any two)

a)
b)
c)
d)

District central co-operative Banks.

Management of Non performing Assets (NPAS)
Debt Recovery Tribunal.

Principles of co-operation.

Q00O
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Total No. of Questions : 5]

P844

[5158]-2007

S.Y. B.Com.
BANKING AND FINANCE
(Indian Banking System)
(2013 Pattern) (Special Paper - I)
(TSt BUTAR)

de: 3 @ | [ TgoT 7707 - 80
geqr :— 1) @d T97 @isiav smavas IHigd.

2) ITHIHSIT 3k QUI T FIAATA.
3) devlarst ye s gvaufA®T ugTE.

7 1)

97 2)

gv7 3)

777 4)

757 5)
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. [16]
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e
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e
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F) T 199] FaT=AT HISTAA URATATA WA AATA T SehTel shTHRRT
T, [8]
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Total No. of Questions : 5] SEAT No.

P845 [Total No. of Pages : 4

[5158]-2008
S.Y.B.Com.
BUSINESS LAWS AND PRACTICES
(2013 Pattern) (Paper - I)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the following terms under Maharashtra Agricultural Produce Marketing

(Regulation) Act, 1963. [16]
a) Buyer

b) Market Area

c) Broker

d) Commission Agent.

02) Explain the term Insurance Policy. State the Characterstics of Insurance.[16]
OR

Explain the term Life Insurance. State the features of Life Insurance.  [16]

03) a) State the difference between fire Insurance & Marine Insurance. [8]
b) Explain the procedure of Marine Insurance. [8]
OR
a) Explain the provisions of Industrial Dispute Act, 1947 as regards 'strikes'
and 'Lockout'. [8]
b) State the features of partnership under partnership Act, 1932. [8]

PTO.



Q4) State the Definition of co-operative Society. Explain the types of co-operative
societies. [16]

05) Write short notes on (any two) [16]
a) Lay off and Retrenchment.
b) Registration procedure of co-operative societies.
c) Reconstitution of Partnership.

d) Personal Accident Insurance.

Q00O
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Total No. of Questions : 5]

P845
[5158]-2008
S.Y. B.Com.
BUSINESS LAWS AND PRACTICES
(2013 Pattern) (Paper - 1)
(TSt BUTAR)
d: 3 @ | [ TgoT 7707 - 80
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Total No. of Questions : 5] SEAT No. :

P846 [Total No. of Pages : 4

[5158]-2009
S.Y. B.Com.
CO-OPERATION & RURAL DEVELOPMENT

(Paper - 1) (2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the provisions regarding Audit of Co-operative Societies according

to societies Act 1960. [16]

Q2) Explain the Individual approach of rural Development. [16]
OR

Explain the provisions of Panchayat Raj system. [16]

Q3) a) Explainthe Structure of Mahatma Gandhi National Rural Employment.[8]

b) State the role of Central Registrar. [8]
OR

a) Explain the features of Co-operative Societies Act. 1904. [8]

b) Explainthe Development Strategy of model village. [8]

Q4) Explain in detail the functions of primary Agricultural Co-operative societies
in India. [16]

P.T.O.



Q5) Write Short notes on (Any two)

a)
b)
c)
d)

Role of State Co-operative Bank.

Objectives of Dairy Co-operative Societies.

Role of Co-operative movement in rural Development.

Functions of Co-operative Societies.

VVVV
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S.Y. B.Com.
CO-OPERATION & RURAL DEVELOPMENT
(Paper - 1) (2013 Pattern) (Regular)
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Time : 3 Hours]

[Total No. of Pages : 4

[5158] - 2010
S.Y. B.Com.
COST AND WORKS ACCOUNTING

(2013 Pattern) (Paper - I)
[Max. Marks : 80

Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of Calculator is allowed.

Q1) A) Fillintheblanks: [5]

a)

Request for Purchase of material in a Particular form to purchase
department is known as

b) The main function of cost Accounting is reporting to

c) High labour turnover usually the labour cost.

d)  is that Portion of a basic raw material lost in processing,
having no recovery value.

e) consists of direct material, direct labour and direct expenses.

B) State whether the following statements are True or False : [5]

a) Bill of material is an invoice received from the supplier of material.

b) Carriage outward is a selling overhead.

c) Costsheetis a statement showing cost of Production for a Particular
Product.

d) Maintaining Daily Time sheet of each worker is the method of Time
Booking.

e) Cost of abnormal idle time is charged to costing Profit & Loss

Account.

PT.O.



02) Define the term Cost Accounting. Explain the objectives, Advantages and

limitations of cost Accounting. [15]
OR
a) Explain the objectives and functions of Inventory control. [10]
b) Explain in brief the use of Computer in store Accounting. [5]
03) Write short Notes on : (any three) [15]

a) Methods of measuring Labour Turnover.
b) Objectives of Scientific Purchasing.

c) Concept of Direct costing.

d) Time keeping & Time Booking.

e) MeritRating.

04) A) Following is the data of kabir Industries Ltd, Pune for the year ended

31% December 2015. [15]
Opening stock of Raw material 25,000
Purchase of Raw material 85,000
Closing stock of Raw material 40,000
Carriage Inward 5,000
Direct wages 75,000
Indirect wages 10,000
Direct expenses 15,000
Factory Rent 5,000
Office Rent 5,000

[5158] - 2010 2



Consumables 5,00

Depreciation to plant & Machinery 1,500
Office Furniture 1,100
Office Salary 2,500
Salesman salary 2,000
Other factory expenses 5,700
Other office expenses 1,900
Factory managers salary 4,000
Bad Debts written off 1,000
Advertising expenses 2,000
Travelling expenses of salesman 1,100
Carriage outward 1,000
Salary to office manager 2,000
Showroom expenses 6000
Advance Income Tax 22,000
Sales 2,50,000

Prepare a Cost sheet showing the following :
a) Cost of Material Consumed

b) Prime cost

c) Factory/works cost.

d) Cost of Production

e) Total cost

f)  Profit/loss.

[5158] - 2010 3



B) From the following information of material 'X', calculate the material

Turnover Ratio and material Turnover in days. [5]
Opening Stock Rs. 14,000
Closing Stock Rs. 10,000
Purchases Rs. 25,000

Q5) a) Prepare a Stores Ledger Account from the following receipts and issues
of material ' — 1' of SS. Industries, pune for March 2016, using weighted
Average method. [10]

Receipts : 1 — 1000 units @ Rs. 10 per unit.
15" — 1500 units @ Rs. 9 per unit.
30" — 500 units @ Rs. 8 per unit.
Issues: 39 — 500 units
9t — 250 units
20™ — 1250 units
31 — 500 units

b) Calculate the total earnings and the effective rate of earnings of Mr. Ganesh
under Halsey Premium plan 50% of time Saved and Rowan Premium
plan seperately with the help of following information. Time Allowed — 90
hours, Time Taken - 72 hours. Rate of wages - Rs. 25 per hour, Dearness
Allowance Rs. 1.25 per hour. [10]

VVVV
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Total No. of Questions : 4] SEAT No. :

P997 [Total No. of Pages : 4

[5158] - 2011
S.Y.B.Com.
BUSINESS STATISTICS -1
(Special Paper - I) (2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Use of statistical tables and calculator is allowed.

Q1) Attempt any five of the following : [10]
a) Define an attribute. State the condition when two attributes are
independent.

b)  When you will get the optimal solution in simplex method?
c) Give any two applications of life table.
d) Givenr,=0.59,r,=0.46 and r,, = 0.77, find r

> 713 23.1
e) State four components of time series, Also write equation of multiplicative

model.

f)  Given, [ =371, =74 and T = 266.5, Find the expectation of life for
age 6.

g) Given a = 0.1, Estimate the profit for the year 2015 using exponential
smoothing method for :

Year Profit (in crores)
2013 25.6
2014 27.2
2015 28.3
02) Attempt any four of the following : [20]

a) The following is the information on employment and education.
Employed graduates = 286
Unemployed graduates = 48
Employed ungraduates = 450
Unemployed ungraduates =216
Compute the coefficient association between the attributes employment
and education and comment on it.

PT.O.



b)

d)

Fill in blanks in the following table marked by?

Age Zx dx q. P, L T,
30 | 42605 ? ? ? ? ?
31 | 41534 - - - - | 976049

Compute the CDR and STDR for two populations A and B taking

population B as standard population :

Age group A B
Population Deaths | Population Deaths
Under 5 30,000 400 40,000 600
5-30 50,000 6000 60,000 6,500
Above 30 20,000 1000 30,000 1200

Obtain initial basic feasible solution using North West Corner method

for following transportation problem.

Markets — D, D, | D, supply
Sources ¥
O, 13 15| |16 17
O, 7 1| |2 12
O, 19 20 |9 16
Demand 14 8 |23

Also find the corresponding transportation cost.

A company has four jobs to be done. The following matrix shows the
time (in hours) taken on 4 different machines. Find the solution so as to
minimize the total time required.

A
B
C
D

Obtain the dual problem of the following linear programming problem :

I II 111 IV
1 4 6 3
9 7 10 9
4 5 11 7
8 7 8 5

Minimize z = 130x, +120x,

Subject to :

120x, + 130x, > 1000
140x, + 170x, > 2000
x,x,>0

[5158] - 2011




03) Attempt any two of the following : [20]

a) Given (ABC) = 26, (ABC) = 18, (ABy) = 38, (ABy) = 12, (aBC) = 12,
(aBC) = 6, (aBy) = 16, (ay) = 9. Find (A), (AB), (AB), (AC), (BC).

b) 1) Find 5 - yearly moving average of the sales of commodity for the
year 2001 to 2010 as given below :

Year 2001 {2002 | 2003 [ 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010
Sales (‘000)| 12 | 11 |10 & | 12 13 (17|19 |14 13

ii)  Fitatrend line to the following data by least square method.
Year 2012 [ 2013 | 2014 | 2015 | 2016
Production | 20 22 23 20 18
c) Obtain the initial simplex table for
Maximize Z = 5X +3X,
Subjected to,

X, +X, <2
6X, +2X, <10
3X, +8X, <12

X, X, > 0. Also comment on which is entering and leaving variable.

04) Attempt any two of the following : [30]

a) Given the following information find equation of plane of regression of
X, on X, and X.. Also estimate value of X, when X, = 6.5 and X, = 6.

Variable Mean SD Correlation coefficients
X, 28.2 4.42 r, =03
X, 491 1.1 r, =04
X, 5.94 8.5 r,=0.56

[5158] - 2011 3



b) Calculate GF.R., TF.R., Age - S.F.R., and GR.R. for the following
data. Assume that proportion of female births is 38.9%

Age group No. of Women | Total Births
(in years)
15-19 12,000 221
20-24 12,300 1907
25-29 11,850 1610
30-34 11,400 1122
35-39 11,100 687
40-44 11,250 210
45-49 10,875 109

Also comment on the results of T.F.R. and GR.R.

c) Following is the basic feasible solution of certain transportation problem.

Is this solution optimal? If not find optimal solution using MODI method.

[5158] - 2011

Markets— D, D, D, D, Supply
Sources ¥

0, 6 | 8 [(5) [8| 5 | @3)| 30
0, Slaoe 91 7] 20
O, B 9 | 7 | @ 13 | 50
Demand 35 28 32 25
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Total No. of Questions : 5] SEAT No. :

P848 [Total No. of Pages : 4

[5158] - 2012
S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP

(2013 Pattern) (Paper - I)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is unemployment? State the Causes and remedies to solve the problem
of unemployment in India. [16]

OR

Explain entrepreneurial career of Shri Ratanappa kermbhar.

02) Explain the meaning and importance of, Entrepreneurial motives and David C'
Mcllellands theory of need for Achievement. [16]

OR

What is creativity? Explain in detail the Creativity process.

Q3) a) State the advantages and limitations of franchising. [8]
OR
Distinguish between Service Industry, Trading and manu facturing.
b) State the remedies of entrepreneurship development in India. [8]
OR

State the advantages of Selfhelf group.

PT.O.



04) What is Entrepreneurship Development? State various challenges in its develop

ment in India. [16]
OR
What is Group Entrepreneurship? Explain the merits and demerits of group
Entrepreneurship.
Q5) Write short notes (Any four) [16]

a) Social responsibility towards Investors.
b)  Various Entrepreneurial opportunities.
c) Business Ethics.

d) Kakinada Experiment.

e) Sources of innovation.

f)  Explain the role of service Industry in national Economy.

\YAYAYAY%
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[5158] - 2012

S.Y. B.Com.

BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper - I)
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Total No. of Questions : 5] SEAT No. :
P849

[Total No. of Pages : 4

[5158] - 2013
S.Y.B.Com.
MARKETING MANAGEMENT

(2013 Pattern) (Special Paper - I) (Regular)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define Marketing Management. Describe various marketing management
philosophies. [16]

02) What do you mean by Marketing Environment? Explain the different types of
marketing environment. [16]

OR

Define the term Services. Describe the characteristic features of services.
How the services are classified?

03) a) Whatare the advantages of online Marketing. [8]
b) Describe various online Marketing strategies. [8]
OR

a)  What are the basic features of Rural Marketing?

b) Discuss the present status of Rural Marketing in India.

04) What do you mean by the terms - Green Marketing, Green Products and
Green Consumers? Explain the marketing mix for Green Marketing. [16]

PT.O.



Q5) Write short notes (Any two)

a)
b)
c)
d)

Problems and challenges in Rural marketing in India.

Features of online Marketing.
Factors influencing Consumer Behaviour.

Stages involved in Buying Decision Process.

VVVV
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[5158] - 2013
S.Y.B.Com.
MARKETING MANAGEMENT
(2013 Pattern) (Special Paper - I) (Regular)
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P850 [Total No. of Pages : 4

[5158] - 2014
S.Y. B.Com.
BUSINESS ECONOMICS
Agricultural and Industrial Economics

(2013 Pattern) (Special Paper-1) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the risk and uncertainly of Agriculture Suggest the measures to control
the risk and uncertainly. [16]

Q2) Define Agricultural Economics. Explain the role of Agriculture in Indian
Economy. [16]

OR

Define Industrial Productivity. Explain the factors affecting Industrial
Productivity.

Q3) a) Explain the factors affecting the supply of Agricultural Product. [8]
b) Explain the Alfred Weber's theory of Industrial location. [8]
OR
a)  Explain the nature and scope of Agricultural Economics.

b)  What is optimum size of firm? Explain the factors affecting on optimum
size of firm.

P.T.O.



Q4) Explain the Economic and non-economic factors affecting industrial efficiency.
[16]
Q5) Write a Short Notes on (Any two) : [16]

a) Advantages of large size of farm.

b) Scope and Significance of Industrial Economics.
¢) Industrial monopoly.

d) Industrial efficiency.

VVVvVVv
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[5158]- 2014
S.Y. B.Com.
BUSINESS ECONOMICS
Agricultural and Industrial Economics
(2013 Pattern) (Special Paper - 1) (Regular)
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P851 [Total No. of Pages : 4

[5158] - 2015
S.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(2013 Pattern) (Paper - I)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) : [20]
i)  What do you mean by integrated defence?
i) Define Logistics.
iii) Define military leadership.
iv) Define perspective planning.
v)  What do you mean by peace time economy?
vi) Define national power.
vii) State the meaning of defence vs development.
viii) Define Zero budget.
ix) State the meaning of Military doctrine.
x)  What do you mean by Deficit finance?
xi) Write any two importance of Defence budget.
xi) Define threat perceptions.

xiii) Define political Ideology?

PT.O.



02) Answer in 50 words each (any two) : [10]
i)  Explain causes of increasing defence expenditure.
i)  Discuss scope of studying defence economy.

i) Explain methods of war finance.

03) Answer in 150 words each (any two) : [20]
i)  Analyse India's defence expenditure since 1971.
i)  Explain mobilizations of resources for defence production.

iii) Discuss relationships between war and economy.

04) Answer in 300 words each (any two) : [30]
i)  Explain leadership as a factor in determining defence expenditure.
i)  Discuss role of public sector in defence production in India.

i) Discuss importance of price control during war.

VVVV
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[5158]- 2015

S.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
(2013 Pattern) (Paper - I)
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Total No. of Questions : 5] SEAT No. :
P852

[Total No. of Pages : 4

[5158] - 2016
S.Y. B.Com.
Insurance, Transport and Tourism

(2013 Pattern) (Paper - I)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the organisational structure of Life Insurance business. [16]

02) Define Insurance Agent and explain the Functions of Insurance agent. [16]
OR

Explain the principles of General Insurance.

03) a) Explain the development of Indian Tourism. [8]
b) Explain the need and importance of Tourism planning. [8]
OR

a) Define Tourism and explain the nature of Tourism.

b) Explain current trends in Tourism Industry.

04) Explain the Impact of tourism on social and Cultural aspects of the society.[16]

PT.O.



Q5) Write short notes (Any two) [16]
a) Insurance Regulatory Development Authority (IRDA).
b) Role of General Insurance company of India (GIC).
c) Sport tourism.

d) Types of Tour.

VVVV
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[5158]- 2016
S.Y. B.Com.
Insurance, Transport and Tourism
(2013 Pattern) (Paper - I)
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[5158] - 2017
S.Y. B.Com.
COMPUTER PROGRAMMING AND APPLICATIONS
(VBscript and RDBMS)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Neat diagrams must be drawn wherever necessary.

Q1) a) Answer the following questions (any 4) [8]
1)  What are the uses of VBscript
i)  Whatis Dual table?
i)  State the rules for declaring variables.
iv) What is B-tree index?
v)  What is string? State its syntax.
b) Give the out put of the following section of code (any 2) : [8]
i) < Script language = "Vbscript" type = "text/Vbscript">
Varl =10
Var2 =2
result= Varl/Var2
document. write ("The result of two numbers" & result)

</Script>

PT.O.



<Script language = "Vbscript" type = "text/Vbscript">
Dima

Dim b

a=10

b=5

If a> b then

document. write ("Maximum number is" & a)
else

document. write ("maximum number is" & b)
End if

</Script>

< Script type = "text/Vbscript">

forn=0to 10

document. write <" < br/> output $" & n>
Next

</Script>

02) Attempt any two of the following

a)  Write note on "Internet Explorer 5.x Dom"

b) What is SQL? Explain different datatypes of SQL.

c) Whatis Index? Explain its types.

03) A) Answer the following questions (any 2)

1)

[5158] - 2017

Consider the following table and solve the following Queries.

Hospital (Hno, Hname, Hcity, Hstaft)

[16]

8]



2)

3)

i)  Display all records of hospital table

ii) Insert one Record in Hospital table

iii) Delete hospital name whose hospital city is Pune
iv) Count the total number of staff

Consider the following table and solve the following Queries
Customer (Cno, Cname, Ccity, Cage)

i)  Display name of customer whose age is 30 and city is Nashik.
i) Display name of customer in Ascending order
i) Add one column Csex in Customer table

iv) Change the name of customer "Ramesh" whose customer
Number is 11

Consider the following table and solve the following Queries
department (dno, dname, dlocation)

i)  Display all records of department
i) Add one column darea in department table
i) Display dname whose location is Pune

iv) Delete dname of History

B) Write syntax and purpose of the following (any 4) [8]

1)
2)
3)
4

S)

[5158] - 2017

Rnd( )
Date()
Hour( )
Week day( )

Rollback



04) Attempt any two of the following : [16]
a) Explain ROLLUP and CUBE operator with example.
b) What is RDBMS? Explain the features of RDBMS.

c) What is Variable? Explain Scope of Variables.

05) Attempt any two of the following : [16]
a)  Write note on VBscript's popularity.

b) What are the different steps Performed by correlated subquery to selcet
the correct records.

c) Explain while. ....... wend loop and Do ...... until loop.

\YAYAYAY%
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Total No. of Questions : 3] SEAT No. :

P854 [Total No. of Pages : 1

[5158] - 2018
S.Y. B.Com. (Vocational)

ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT

Advertising and Media Planning

(2013 Pattern) (Paper - III)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define the term "Advertising". Explain the importance of animations and

graphics in Advertising. [12]
OR

"Advertising is an investment". Discuss in the light of modern competitive

world.

Q2) State and explain the career opportunities available in the field of Advertising.
[12]

OR

What do you mean by Print media of advertising? State its types, advantages
and disadvantages.

Q3) Write short notes (any two) [16]
a)  Advertising strategy.
b) Importance of Branding.
c) Types of Advertising copy.
d) Role of Ad-Agency
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Total No. of Questions : 10] SEAT No. :

P855 [Total No. of Pages : 2

[5158] - 2019
S.Y.B.Com. (Vocational)
Computer Applications

(2013 Pattern) (Paper - 111) (Theory)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates :

1) Solve any EIGHT questions.

2) Draw a neat-labeled diagram wherever necessary.

3) Figures to the right indicate full marks.

Q1) Explainin brief Structured Query Language and its features? [5]
Q2) What are the benefits of database in businesses? [5]
Q3) Explain UPDATE command with syntax and example. [5]
Q4) Explain triggers with syntax and example. [5]
Q5) Explain the following functions : [5]

a) Next Day ()
b) Length ()

Q6) Explain in detail Hierarchical Database Model. [5]
Q7) Explain in brief the following : [5]
a) Field
b) Record

P.T.O.



Q8) Explain Logical operator with examples. [5]

Q9) Explain the concept of E-R Modeling [5]
Q10)Explain in brief the following : [5]
a) DCL

b) Foreign Key

VVVV
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Total No. of Questions : 4] SEAT No. :
P856

[Total No. of Pages : 2

[5158] - 2020
S.Y. B.Com. (Vocational)
TAX PROCEDURE & PRACTICES
Income Tax

(2013 Pattern) (Paper - 111)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Read all the questions very carefully before attempting the same.
Q1) Answer in 20 words each (any five) : [10]
a)  Deduction for municipal tax from net annual value.
b) Long term Capital Asset.
c) Powers of Income Tax Officer.
d) Payment of advance tax for individual.
e) Refund of Income Tax.

f)  Net Taxable income.

g) Appeal under Income Tax Act.

Q2) Answer in 50 words each (any two) : [8]
a) Disallowable expenses from business income.
b) Deduction under section 80 C.
c) Determination of income of partnership firm.

d) Determination income of Deemed let out house property.

P.T.O.



Q3) Answer in 150 words each (any two) : [10]

3)

b)

c)
d)

What are the incomes chargeable to tax under the head "Income from
other sources"?

Deduction U/S 54 from Capital gain.
Clubbing of income.

Depreciation U/S 32.

Q4) What are the rates of Income tax for the individual and partnership firm for
the Assessment Year 2017-18. [12]

OR

Mr. P submitted the following particulars for the year ended on 31 - 3-2017:

Profit and Loss Account

Particulars Amount Particulars Amount
To salaries 5,32,000 By Gross Profit 9,30,000
To Rent 1,02,000 By Discount received 24,000
To Drawings 40,000 By House rent 5,50,000
To LIC Premium 10,000 By Interest on F.D. 30,000
To Car expenses 36,000 By Interest on NSC 50,000
To Corporation tax 12,000 By Interest on S.B. A/c 16,000
(for let out House)
To Net Profit 8,68,000

Total 16,00,000 Total 16,00,000

You are requested to determine his business income for the Assessment year
2017 - 18 after considering the following :-

3)
b)

Salary includes salary paid to domestic servant of Rs. 90,000.

Car expenses include 50% for the personal use.

VVVV
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Total No. of Questions : 3] SEAT No. :

P857 [Total No. of Pages : 1

[5158] - 2021
S.Y.B.Com. (Vocational)
Advertising, Sales Promotion & Sales Management

(Personal Selling & Salesmanship)

(2013 Pattern) (Paper - 1V)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Define personal selling. Narrate importance of personal selling in modern
marketing. [12]

OR

State various qualities required by salesman to become successful salesman.

02) What do you mean by 'buying motives'? Explain in detail various buying
motives of customers. [12]

OR
Write note on :
a) AIDA

b) Sales manual

03) Write short notes on : (any two) [16]
a) Prospecting
b) Types of customers
c) Importance of retailing

d) Reports prepared by salesman
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Total No. of Questions : 6] SEAT No. :

P858 [Total No. of Pages : 1

[5158] - 2022
S.Y.B.Com. (Vocational Course)
Computer Applications
(2013 Pattern) (Paper - 1V)

Theory

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates :

1) Solve any FOUR questions.

2) Draw a neat-labeled diagram wherever necessary.

3) Figures to the right indicate full marks.

Q1) What is Flow-Charting? Give example. [10]
Q2) Explain briefly general model of a system. [10]
Q3) Explain briefly System Implementation, Followup and Maintenance. [10]

Q4) Define Software Engineering? What are the objectives of Software Engineering?

[10]
Q5) Explain briefly the following fact gathering techniques : [10]
a)  Questionnaire
b) Interviewing
Q6) Write a note on Form Design and Output Design. [10]
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[5158] - 2023
S.Y.B.Com. (Vocational)
Tax Procedure and Practices

(Wealth Tax, Service Tax, Local body tax and Professional tax)

(2013 Pattern) (Paper - 1V)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Read all the questions very carefully before attempting the same.

Q1) Answer in 20 words each (Any 5) [10]
a) Assessment Year for Wealth tax.
b) Penalties under LBT.
c) Need of service tax.
d) Gross Wealth under the Wealth tax.
e) Interest under Profession tax.
f)  Define the term 'Person' under the wealth tax Act.

g) Scope of LBT.

02) Answer in 50 words each (any two) : [8]
a) E-Payment of service tax
b)  Write note:- Who is liable to get registered for LBT.
c) Returns under Professional tax.

d) Megaexemption under Service tax.

PTO.



03) Answer in 150 words each (any two) : [10]
a)  Valuation of Building under the Wealth tax Act.
b)  Write down the procedure for submission of return under L.B.T. Act.
c) Valuation of taxable services.

d) Role of Chartered Account for Compliance of services tax regarding
maintenance of books of accounts.

04) Answer in 500 words (Any one) : [12]
a) Explain in detail assets under the Wealth Tax Act.

b) Explain in detail the negative list under the Service Tax Act.

\YAYAYAY%
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